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correct symbol », < 07 = in the placeholders,

.M P“t t". 70 170
10 W””“*.::,m by 77 070 70,270 21
. 10,00 » 1310
@ 395 o g oo (fy 7831467 28,34.167
W 5 oite £ € 1 4 A {
" e ter of different digits feyrmed by using the digts 5. 9.3, 1and 0

sing the digits 2, 0. 8. 7 and 5 2

nallest Hum
) White the Smd formed by U

5 g)i White the greatest mymmber of different digis
. ghe smallest 4-igt aumber using the digits 6. 0 and 5 repeating 3 Twice
e ::' Wwﬁ‘t ghe greatest 4-digh aumber using the digits 3, 6 and 9 repeating 6 twice 2
b . 2
““ a
M_,”,,”mzos'?ﬂa“""50784"” 2839¢7 ,
; 2 ] P
| s 4876 +i 86249 B 979

:
:
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. w - e ————

!ls The cost of 2 refrigerator is 48,748 and the cost of a motorcycle is T 29,657more than
: that of 2 refngerator. What 1s the total cost of both the refrigerator and the motorcycle?
4,98 656 votes were found valid, 6768 votes were found invalid and

did not cast their votes. How many votes were registered in all?

i an election.

324 ()80160
) 5 7

(c) 3240
-5 3. 4 5

p 8 2
g SR8 56 96

Mg 102003, If one of them is 64597, find the other.

20 bwo numbers is 78489. If the larger number is 350102, find the smaller num*

(b) 39623 x 100
(d) 207 x 300
(f) 585 x 9000

"

i

e
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‘f_t. The cost of a mobile phone s € 7786 What is the cost of 757 such metite phones’ ‘

22. In each of the following division sums, find the quotient and remainder,
(a) 66863 + 76 (b) A310%5 4 49 (£) A58 + 91
(d) 132507 + 10 (e) 1046549 + 100 () 295174 % 1000

23. An aeroplane takes 17 hours to fly a distance of 15419 km. How fas dors 4 1y
in one hout?

3!- The cost of a fluorescent tube is ¥ 57, How many such tubes can be bought o 2 192557

(b) 90 and 105

(b) 15, 20 and 30

.
L] ¥

W 2= e @ 7= 51
fraction of g T with

5 'ﬂ;) denominator 36 (c) numerator 35 ), ST
mbol > or < in the placeholders.

17

''''''''''''
TR AT T oy
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e : 5.2

N -
L © 2=k o i 5oL

" 37, Convert each of the following mixed m:.:u:; into an imprope:fsraction, G
W 6 (b9 (© sit

38, Convert the following improper fractions into mixed numerals. 48
@ &L oowm 7 (c) B2

| ”a Express each of the following fractions as a decimal. 2

A . 23 o A 79
T ®) 500 ) 500 @ To00 () o5
40, Express each of the following as a fraction.
(3) 06 (b) 0.75 (c) 325 (d) 0.064 (€) 6513 :
41. Write each of the following decimals in an expanded form. :
{a) 18956 (b) 402.05 (c) 59.003
42. Add the following.
(3) £256.83 b) T 80.96 (c) T100.74
¥308.75 T enigh s z 9.9%¢
+% 98.06 + R T3 15 8 + B Bd:S 81
(b) B 4 36 .56 €))7 63 9
~% B8 004 - 83 4.68

nfectionery store, She purchased biscuits worth ¥ 105.60, bread worth 19.75, jue
and toffees worth Z 8.80. She gave a 500-rupee note to the shopkeeper. Wi

176.65. What is the cost of 35 such bats?
0 fof 2 68,25, What is the cost of 1 chocolate?

(b) &m 56 mm into mm
(d) 2kL5LintoL
12 kg 220 g into g

3

e
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48. Change: ;
~(a) 5530 mm into m and cm (b) 2685 mL into L and mi

(c) 565 kg into quintals and kg (d) 8760 g into kg and ¢
49. Add:

 (a) 6Bkg7S6gandBokg9eBg (b)) 57 m 68 cm and 7% m 86 cm
(€) 26km 774 mand B4 km 668 m () 54 L 565 mL and 79 L 785 ml

) 21m12cmand 7 m 84 cm (b) 105 km 417 m and 39 km 784 m
467 kg 205 g and 278 kg 457 g (d) 92 L 142 ml and 65 L 566 ml

1 elect ‘ bought 500 metres of wire, He sold 43 m 75 cm of the wire to one customer and 152 m
) om of it to another customer, What length of wire is now left with him?

"Mofpulseswetghs 15 kg 200 g, If the empty tin weighs 1 kg 375 g, what is the net weight of the
mmmcdm the tin?

 oil tanker has a capacity of 100 litres, If it contains 76 L 275 mL of oil, how much more ofl it can

‘_d the iollcwing figures are polygons"

o im 10 length, breadth or thickness.

N i

as only one end-point.

ot intersect itself is called @ ........................ .

s or more line segments.

cioreres 1€ BIWEYS equal,
chord of a circle.
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<7 o 56. Draw a quadrilateral. Name it EFGH. Write the names of the four sides and two diagonals.
571. A c‘ircle has a radius of 12 cm. How long is its diameter?
58. A circle has a diameter of 16 cm. How long is its radius?

59. Find the perimeter of each of the following figures.
(@) VO Tl (b)

sem | ol

60. Find the perimeter of:
(a) arectangle of length =9 m 35 cm and breadth = 6 m 45 cm
(b) asquare of each side = 8 m 35 cm

61. What time will it be:

~ (3) 2 hours 30 minutes after 10 : 40 p.m.? (b) 30 minutes before 12 noon?
SN (@) 1 hour 50 minutes after 11 : 20 a.m.? (d) 10 hours after 3 a.m.?

e following are leap years?
(b) 1992 (e 2002, (d) 2100

vice in a company on 30th April, 2010 and worked for 42 days. On what date did he

}: fl /\
iy |

i J

Scanned with CamScanner



i Class 4, we have learnt reading and writing Roman numerals up to 100, 1n this section. we shall esipsd
MR of reading and writing of these numerals up to 500,

m that there are seven basic symbols to write any Roman numessl

iﬁhm POV it e B 1 A

(inwnmm /rmbwm&

khrmmu Roman Numerals oyoem, vhere sloc 5 i
o I no eymbol for vl 9 prraAr

of a Roman numeral means addition, 0 4 /

: Only I, X, Cand M can be repeated, W
| V. Land D cannot be repeated,

‘No numeral can be repeated more than 3 times,

“'7"‘1-2 i 141 41m3,

.'.zoo CCC = 100+ 100 4 100 = 300,
vritten to the right of a larger numeral is always added to the larger numess

6 Vii=5+1+1=7 Vil=5+141+1=8,

A= 1041+1=12, Xl =10+ 14141 =13, XV=104+5=15
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le : jl\/ﬁmS—hu!!. X=10-1=9
- (3) X can be subtracted from L and C only.

XL = 50 =10 =40, XC =100 <10 = 90,
(4) C can be subtracted from D and M only.

p: CD = 500 - 100 = 400.
hen a smaller numeral is placed between two larger numerals, then it is always subtracteq

XIV=10+(5-1)=14, XIX=10+(10-1)=19,
CXIV=100+ 10+ (5 - 1) = 114, CXC =100 + (100 - 10) = 190.
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When we write any numbgr in Roman numeral, we write it in expanded form first and then write the Roman
numeral for the hundreds first, followed by the Roman numeral for the tens and then for the ones to the right

of it.
Thus, we have:

(a) 89 =80+9 (b) 97 = 90+7 (c) 146 = 100+ 40+ 6
| = XXX +IX = XC+ VIl = C+XL+VI
2 = LXXXIX = XCVII = CXLVI
() 199 = 100+ 90+9 (e) 258 = 200+ 50+ 8 (f) 335 = 30043045
= C4+XC+IX = CC+L+ Vi = CCC + XXX +Y
- = XX = CCLVIII = CCCXXXV
10 = 400 + 10 (h) 444 = 400+ 40+ 4
- =0D+X = CD+ XL+1V
e = CDX = CDXLIV
rly, we have:
eI (b) CLXIX = C4+L+X+IX © (c) CXCIV = C+XC+ IV
= 100+9 = 100+ 50+ 10+9 = 100+90 + 4
= 109 —SI690" = 194
= CC+XL+VIl  (e) CDXXXVIl = CD+XXX+ VI
= 200+40+7 = 400+30+8
= 438
c nan numeral for each of the following Hindu-Arabic numerals.
~ (b) 189 (c) 247 (d) 196 (e) 365
(g) 449 (h) 495 (i) 344 () 466
d j-Arabic numerals corresponding to each of the following.
XCl (c) CXLVI (d) CXCll
(g) CCXCVI (h) CXCVI
re meaningless?
B (o) 1L (d) LU (e) VC
- (h) CCCCXVI (i) LLIV () ccv

symbol >, < or = in the placeholders.
i (h), cD () ceexc
(h coxL. () CDLX

() coXxvi [] coxxix

Bl 2 o
s o e R o T bt | i £
NRAST o sl ,“‘- e o YT e S AR z
ek S S i o ] TINS5 Pt Py
. ) e  Sgbada TR e z
= i
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r :

QUESTION BAG 1
: (Objective Type Q“EStiom)
Tick (v ) the correct answer. :
In Roman numerals, there are only ............... basic symbols.
1) 7. () s (o) l€), 9 (d) 10
: ~§Rbihan—numeral for the smallest 4-digit number is
. () mc () @M (d) D
: :.;, ‘hich of the following numerals cannot be repeated?
@1 s ) (i) v e
+XV+XX=
BEORS () (s L@
subtracted from
() (b) VandX () () XandC 1 (d) V.XandC
CDXLIX| ) CDLX
D) < () (©= (d) None of these
— 5
() o) ooax (d) XLviil
sl ol 000N (d) XeV 2
QUESTION BAG 2 o
Hindu-Arabic Numeral Roman Numeral '
(b) SRR
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2. Fill in the blanks.

(1) SSYMbBIS v TR OV BME Sirbincind are never subtracted or repeated.
(b) X can be subtracted from .............. {11 SRR only.
(¢) C can be subtracted from .............. ol (G TR REEe only.

3. Cross (x) the Roman numerals which are not written correctly.

(a) XD (b) VX (c) CDXL
(d) CVX (e) CWV (f) IcC
(8) XUX (h) LC (i) CCCXC

4. Write the following Roman numerals in ascending order.
(a) CXIX, XCIX, CXXI, CIX, CXX
- (b) CCLX, CCXC, CCXX, CXC, CCXL
() CDLXIX, CDLXV, CDLXIlI, CDXLY, CDLVIII
e Sﬂw and write the answer in Roman numerals.
BN OOV . = i B s

BRIV - XXX = s (d) LIVxVI =
(ORIREAVIIN 0= "0....0.. 0 0.

(BYERCERSEEROONIEE = oot

......................

(&) CVIIl+CXLVI
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I Class 4, we have studied up to 7-digit numbers. % ,.
We know that the largest 7-digit number is 9999999 Mm;,/_ i g The
»-'mmmmmmwamnm; ‘ &5

Eﬁi-

sand nine hundred ninety-nine.
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t‘ On adding 1 to 99999999 we get:

99 999 vy
+ o B

i 0 0 0 0 0 0 0 0
We read 100000000 as ten croree.
~ This is the smallest 9-digit number,
}'mﬂ\,ﬂwhcus called the ten crores place.
: .Mwmwmw extend the Indian Place Value Chart to 9 places,

riods in a Place Value Chart

Indian Place Value Chart, the nine places are grouped into four periods.
from right to left are; Ones, Thousands, Lakhs, Crores.
isthe place value chart showing the first nine pla;es.

~ lakhs ""'ﬂ’lfdiﬁiﬁﬂi‘i' Ones

M“ﬂw WEs s | adivine wel® ol e i mads

1

Ten Thousands
0000
Thc_iusands
- 1000
Hundreds
100
Tens
10
Ones
1

TTh Th H T O

he ﬂgbt we make bunches of 3 digits, 2 digits, 2 digits and 2 digits respectively
e bunches by commas, we may write 183672123 as
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i tximph 2: Arrange the digits of each of the following numerals in the place value chart

J write it by separating the periods. g
(a) 29574 (b) 136095 (c) 3705160
(d) 18256479 (e) 20703584 (f)y 240800218

Starting from the right, we make entries of the digits of each numeral in the place value chary
as shown below.

"~ Given Numeral |
~ Crores Lakhs  Thousands Ones Using Commas
Tt el i 7 ke i R | (i

2 9 5 7 4 29.574

1 3 6 0 il 136,095

b ), S 1 6 0 37.05.160

grdkag 6 4 7 9 1,82.56.479

et oGRS 913 B 8 4 2,07.03.584

8 B0 Ol ha 2 1 8 24,08,00.218

Read a Number? we
3g 2 number all the digits in the same period are read together and the name of the period. except
ad along with them.

Vrite the following numbers in words.

(b) 1407319 (c) 12043056
7 (e) 230305211 () 920517068
the periods of ones, thousands, lakhs and crores from the right in each numeral, we
> the given numerals as under.

~ Given Numeral
" Ones Number Names

Two lakh ninety-five thousand

seven hundred eight

Fourteen lakh seven thousand

three hundred nineteen

One crore twenty lakh forty-three

thousand fifty-six

Five crore eight lakh thirty-four

P R thousand five hundred seventy

- Twenty-three crore three lakh five
! . thousand two hundred eleven

Ninety-two crore five lakh

4 é seventeen thousand sixty-eight
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npie 4: Find the place value of each of the digits in the number 367405281,

=y =1x1 =
Place value of § = 8 tens =8x10 -
vakieof 2= 2hundreds =2 x 100 =
value of S = S thousands = 5 x 1000 = 5000
| Plcevalue of 0= 0ten thousands =0x 10000 =
- Place value of 4 = 4 lakhs = 4 x 100000 = 400000
\ Plcevalueof 7=7tenlakhs  =7x1000000 = 7000000
value of 6 = 6 crores —6x 10000000 = 60000000

peof 3=3tencrores =3 x 100000000 = 300000000
570316 in the expanded form.
D. 3SRy

|7L ,‘_’: 3:7-.
— 400000000 + 90000000 + 0 + 500000 + 70000 + 0+ 300 + 10 + &

e

300000 + 90000000 + 500000 + 70000 + 300 + 10 + 6.

S ) e

~ (c) 52673894 (d) 430615029 (e) 681008546
- (h) 900000100 (i) 303100001
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| T
| 2. Whrite the following numbers in words, o
§ (@) 7410507 (b)) 19,00,302 (€) 2,41,0506) (d) 10,00,53109  (e) 22,07,08518
' (1) 36.,10,06.284 () 50,19,00,0060 (h) 10,01,01,100 (i) 4,04,04,004
3. Write the following numbers in figures,

() Ninetvtwo lakh five thousand fifty-five

(b) Six crore sixty-five lakh twenty thousand seven hundred sixteen

- () Nine crore nineteen lakh nine thousand nine hundred ninety 12.
: .Sd) Twelve crore ten lakh three hundred sixty-five 13.
(€) Five crore forty-two thousand one hundred nine
() Twenty-three crore five lakh seven thousand one hundred eight
Q) Thirty crore fifteen thousand eighteen P
{h) Fifty-two crore one lakh thirty-one e
(1) Thirteen crore five hundred seventy i
(1) Ten crore ten thousand eleven
Ru
(k) One crore one thousand one
4. Using Indian place value system, write the place value of each of the digits in the numeral 64,19,70,528.
5. Using Indian system of numeration, find the place value of the underlined digits in each of
- the following.
~ (a) 590713568 (b) 635709412 (c) 820307514
(d) 813605247 (e) 246053819 (f) 913546007 =
, ;hg following numbers in an expam!ed fo;m.l &
,29.347 (b) 23,09,519 (c) 9.72.34,026
3,06,19,804 (e) 3724,09,578 (f) 89.30.16.870 o
/rite the Mlowlng in standard form.
3000000 + 700000 + 60000 + 9000 + 70 + 6
0000000 + 8000000 + 30000 + 400 + 80 + 4 Exa
+ 200000 + 2000 + 200 + 2 Sol

00 + 30000000 + 200000 + 80000 + 4000 + 60 + 9
4+ 5000 + 50 + 5
00000 + 900 + 9
;yzm b
, wiite the numbers from 2906754 to 2911754,
the numbers from 52736109 to 53236109
nibers from 163057500 to 223057500,

i '

e 2 e
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11. Look at the pattern and write the next three numbers,
(a) 3140624, 3140724, 3140824,

...........
...............................................

W mmes just after 95369997 (b) What comes just before 99000007
comes just after 137008997 (d) What comes just before 100000007

fe two numbers we adopt the following rules:
h less digits is less than the number with more digits.
have to compare two numbers with the same number of digits.
First compare the digits at the leftmost place in both the numbers.
they are equal in value, then compare the second digits from the left.

nti ue untll you come across unequal digits at the corresponding places. Now, the
W gfedter such digit is the greater of the two.
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~ At the ten-lakhs place both have the same digit, namely 6.
But, at the lakhs place, the fiist number has 5 while the second has 7,
Clearly, § < 7.
AN NWYM « 06721643,

| ing Order means the numbers from smallest to greatest,
ending Order means the numm from greatest to smallest,

|  ATS1234, 15267302, 143605217, 15458314, 4062341
Ml“ “ ht‘ us arrange the given numbers in a place value chart,

S . T v 7o
3 LTI - [

7
Bt 7.0 3 o :
e
LA N
T N

i number
ff«hﬁt numbers, clearly 3751234 < 4062341 (Smce 3TL<4TL)

8-digit numbers, clearly 15267302 < 15458314 (Since2 L <4 L)
_#n 9-digit number is the largest
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iR Py eay==s ﬁ

Out of the given numbers two are 9-digit numbers, two are 8-digit numbers and one is a
7-digit number.

o In 9-digit numbers, clearly 483910257 > 483672906 (Since 9 L > 6 L)
In 8-digit numbers, clearly 74635618 > 74613898 (Since 3 TTh > 1 TTh)
! ,.m“"‘?’ the 7-digit number is the smallest.
. 483910257 > 483672906 > 74635618 > 74613898 > 9876879
HM , the given numbers in descending order are:
9 57, 483672906, 74635618, 74613898,. 9876879

(b) 23507104 (“; 14536523

7

......

(d) 203645817 | | 164786938

5670590 (f) 478907506 k“\' 478913401

(h) 750890315 [ | 750890410

ey

25302 () 917263954 [ | 917260954

£y "'-‘ers in de_scending order.

23149925, 7546785
A LR R

imbers in ascéndins order.
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4. Encircle the largest number in each of the following.
(a) 31650829, 307482134, 4536794, 41035106, 238590746
(b) 102234102, 93645753, 27810591, 102240003, 93646800
{c) 9017848, 12345716, 101010706, 91537964, 100718967
(d) 9000009, 90000001, 9935469, 87590909, BBBABEBS

International Place Value System

This system is followed by a large number of countries in t
© tlakh = 100 thousands

~ 10lakhs = 1 million

~ tcrore = 10 millions ﬁ
~ 10cores = 100 millions

E>

he world, In this system, we write:

~ Inthis system, we have periods of ones, thousands and millions.
§  Inagiven numeral, proceeding from right to the left, first three places make ones period, next three places
© make thousands penod and the next three places make the millions period.

Given below is the international place value chart.

International Place Value Chart %
’ ”ml S5y "~ Thousands Ones

Thousands
1000
ﬁundreds
100
Tens
10
Ones
1

1100000
' Ten Thousands

I BT TR e iR T o
following numbers with proper commas, using International system of

(b) 765049813 (c) 400835029

given numerals in an International place value chart and then separating the
ay write them as shown.

Notation
o 5
o o 94,536,708
ooty 765.049.813
b 400,835,029
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~“—1
Example 21 Write the number names of the following,
(a) 56,472,083 (h) 120,907 406 (€) 374006 ,0%%

(d) 30,805,107 (&) 10,001,001 () 450,000,045

Solution:  We know that in each numeral, starting liom the right, we have petiods of ones, thousands
and mllllom 0, we may write the giver numbers as undes

meix million foumunmd TR thousand lahtytivee

O hundred twenty million it hudied seven thousand fo
hundred six

Thiee hundred seventy-four millwn $i% thomnd thirty-five
- Thirty m]_lllqn eight hundred five thousand one hundred seven
1,000 Ten million one thousand one

= .fl'lt f AIgE

~ Four hundred fity million forty-five

(b) 50968307 (c) 103854179

() 491560543 (f) 793654182

(h) 100006001 (i) 90007010
ber | nlmu of the following.

(b) 30,807,541 (c) 81,923,054

(e) 231,600,148 (f) 490,300,007

(h) 23,006,100 (i) 560,001,010

! _Iion one hundred elght thousand seven
e mlllion six hundred five
illion two thousand thirty-one

Scanned with CamScanner



1. Inindian place value chart, the nine places are grouped into four pmiudr,, namely Ones, Thomar;d',‘
Lakhs and Crores.

2. Given below is the place value chart, showing the first nine places,
' ores  Lakhs  Thousands Ones

g
:

=
ShortForm TC € TL L TTh Th H T O

mee §p 8

p=

Ten Lakhs
Hundreds
Tens
Ones

Ten Thousands

3. Starting from the right, the first three places make the ones period, the next two places make the

thousands period, the next two places make the lakhs period and the next two places make the
crores period.

4. Inagiven numeral, we separate the periods by using commas.

5. In Intemational Place Value system, we have periods of ones, thousands and millions, as shown

S ‘below.
| Mmm’ | Thousands Ones

(2]
)
& 3
w = (75}
= %)
z o 8 = o
(o] = =) (3] st %2) s
= R e S 2
= E == 2 5 = (@)
e E ke T
3 —
=
RRERIEE TR TH T OH T . 0

(b) 10 lakhs = 1 million
(d) 10 crores = 100 millions

el
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! (G T Erore e L L o i million. same as its face value.
(e) The place value of ......ccovveriesonne is alW§YS the
(f) Thereare ..........cecounnin seros in 30 million.
(@) TREE BIR «..iiviieserivsitins 7er0s in 8 crore. of the given number

(h) When 1 is added to a given number, we get the ..o

(i) The predecessor of 86,30,000 i ... .
(J) The successor of 6,09,99,999 IS .....coooeeeeeeres :
(k) The predecessor of 1,41,000 05 ......coooweesmeeeses :

() The successor of 79,98, 999 iS .......oowewsseees: - .
(M) In 2,67,48,903; 2 isin the .......cccoerervnen: place and 7 '? e -
(n) In 178,563,910; 7 isin the .......ccocovevenn: place and 5 is in the ... .

2. State whether each of the following statements is true or false.
(a) The place value of 8 in 856,321 is 8 lakh. SR
(b) The place value of 9 in 9,60,58,324 is 9 crore. g )
(c) There are 2 places in the millions period. : %—_:
(d) There are 3 places in the lakhs period. o o )
3. Rewrite each of the following numbers in the Indian system.
(@) 636,821 (b) 6,954,128 (c) 87,198,362 (d) 10,101,010 (e) 843,034

4. Rewrite each of the following numbers in the Indian as well as International systy,
numeration, in both figures and words.

(a) 846379  (b) 6309903 (c) 81818818 (d) 101036365

5. Write the period, place, face value and place value of the underlined digits.

(a) 60.187,549 (b) 84.16,25.903
6. Compare and put the correct symbol >, < or = in the placeholder.

(a) 9339393 ( ) 939993 (b) 9989889 C 9989988

(c) 10101010 C } 10100101 (d) 609960069 Q 609906069
7. Arrange in ascending order.
45454545, 5454545, 45545455, 4554454, 5454554
z:;“t; ;'.?;'s;"';flzs‘ and the greates':(:)u':,b:r’sl_‘:f? ;a;:h of the following digits only ™"
a) ‘Write the smallest 6-digit number having all different
': ‘Write the greatest 6-digit number having al| different
,.Wﬁtsthre smallest 8-digit number having three diffe
/ri the greatest 8 digit number having three different digits.

the ,ﬁﬁl’lest possible 7-digit Number using the 4
“ tpo thedi.:
(b) 4. 7.9 8 plEE &S

digits.
digits.
rent digits.
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